 Testing Efficiency of FTP between a Switch and a Router

Name:   
Date:  
Objectives

Objective:  Compare time required to transer a file thru a router and thru a switch.

Background Reading

Review previous labs, and how to FTP, establish a lan, and set up minicom.  

Required Equipment

1. Two established LANs

2. One Router

3. One Switch

4. Cables

Procedure 

1. 
Setup LAN connections

a. Set up the physical connections for the LAN’s.  

b. Connect the two computers to the switch. Configure the IP addresses for each computer using the command:  ifconfig 192.168.2(1).3 netmask 255.255.255.0.

c. Test for connectivity by pinging a host.

The following diagram illustrates the setup:


d. Make sure FTP is running on one of the computers.  A user must be created because FTP will not allow root to transfer files.  Setup a user name on both computers.

e. A file was installed in /home/mmathieu called linux-2.4.19.tar.bz2 that was 26042494 bytes.  A large file is needed to allow for variation of times to be measured over the network.

f. Transfer the file using ftp.  The following commands were used:

ftp 192.168.2.3
login: mmathieu

password: xxxxx

cd /home/mmathieu

ls (Verify file is there)

get linux-2.4.19.tar.bz2

The file was transferred 5 times with the following recorded transfer times:

2.23 s       11.4e+03Kbytes/sec

2.23 s       11.4e+03Kbytes/sec

2.22 s       11.4e+03Kbytes/sec

2.24 s       11.4e+03Kbytes/sec

2.63 s        9.67e+03Kbytes/sec

g. Next, setup the following network:


h. Review previous labs to configure the interfaces of the router.  Also, minicom may have to be installed to communicate with the router.  

i. Following the same format as above, the transfer time between the LANs using FTP were:

3.5 s      7.27e+03Kbytes/sec

5.3 s      4.80e+03Kbytes/sec

6.5 s      3.91e+03Kbytes/sec

6.8 s      3.74e+03Kbytes/sec

5.9 s       4.31e+03Kbytes/sec

Conclusion



The FTP transfer time is shorter thru a switch  than thru a router.  This conclusion is reached by the shorter transfer time and higher throughput of the switch versus the router.  This is possibly due to less overhead required by a switch at the data link layer than at the network layer for the router.
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